CCNA 2 Module 3 Visual Content.

The question is as follows:

The serial connection shown in the graphic needs to be configured.  Which

Configuration commands must….

(question incomplete refer exam)

The diagram depicts Router 1 named Melbourne with it’s Serial Interface(S0) configured with an IP address of 201.100.53.1/24.  Router(Melbourne) is linked to Router 2 named Sydney by Serial Link.

The Router(Sydney) has it’s Serial Interface(S0) as the DCE end of the link

And therefore has the clockrate set.  No IP address has been set on Router(Sydney) Serial Interface 0 port.
